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1. 04lE - ABCD F; EFGH ¥ R5ETY » SKDER & Fyfa? c
(A5 (B¢ (©)3.5 (D)3
<fEtfr> 30
" /\NECD~/\FDA(AA 1)) D
.DE_CD
"'aF 4D
-)D—E—E DE=4.5 > #E A -
2. What is the solution to the equation vx+7-x=1 with respect to x? (A)0 (B)I (C)2 (D)3

<fAT>

JA =V t7 —1+x%(\/x+) =(1+x)* » x+7= 1+2x+x

L2620 (x+3)(x-2)=0 » x=2 5-3 (-3 £ &) -

3. WHE > MNEFEMWERK » #5 2K=30°"
HIl ~ MPK=? (A) 70° (B) 90° (C) 95° (D) 100°

<fi>

R NPT T e
5(PM -ON )=30"> Py -QN =60

PM +QN =180 40°x2=100"......®

D-@—QN =20°

~ MPK=(180°+QN )+2=(180°+20")= 100°
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4, =Ei/2020%2021%x2022%2023+1-202 1°= . (A)2020 (B)2021 (C)2022 (D)2023
<gehf>

% a=2020 » [H==a(a+1)(a+2)(a+3)+1= a (a+3)(a+1)(a+2)=(a*+3a)(a*+3a+2) +1

% x=a*+3a > (a*3a)(@d®+3a+2) +1—>x(x+2)+1=x’+2x+1=(x+1)?

CER= /(x+1)2-20212= /(a2+3a+1)2-20212=20202+3x2020+1-20212

=(20202-2021?)+6060+1=-4041+6061=2020 > #E A - 4

5. WAE > AABCH > £B=90" > AD ~ CEXF* GBL > G &L g
» AC=12 » BI[AD +CE =2 (A)180 (B)200 (C)220 (D)240

<fgtir> B

" "AD +CE =AB +BD+ BC +BE

—(4B° + BC)+ (BD" + BE)= AC +DE"

AC + GAC)=2x12°=180 » #E A -

6. Tiflx~y REH VAo 6r+9-0 > Hlxty=2(A) = (B) 5 (O) 5 (D) 3

<fiEffr>
Fizt=V3x+4+(-3)°=0 » H x ~y ZEHHK

" 3x+4=0 H y-3=0

.'.x:§ H y=3-)x+y=§+3=§ » HEC o

7. WEE) o FEFE—-E& L HE A4 3" | 3?‘ .z
BLRI B SR AT 0 BB S — g )
(b) T A BB B A R s n
RIRE4 o 75 ZHEE BaD 1.5 AR » BIZE 40 70 FHE 4 C
TS/ R (A0 (B)612 (C)66 (D)67.2 IR
<> |
OEWFRE=50 #b > A ZpEEE=0(RIFHE F2)
@1 fh » FHIEZ=9+50=0.18(,A R)—HELZ 1 FHR
HITFH Y 2R 5 =1.5+0.18=1.68
@4 40 PHiER - FHE A BREE) 1.68x40=67.2 AR > D -
A
8. InRtAABC as shown, ~B=90°, AB=4, BC=6, fold (2%&) AABC
so that point C coincides with (EE4) the midpoint D of 4B andthe D M
crease (F8JE) intersects AC, BC at point M and point N respectively. )
What is the length of CN? (A) = (B) = (C) = (D) = B N C

<fifi>
4CN=x » CN=DN=x » BD=4B=x4=2 » BN=-BC-CN=6-x
ADBN S H A=A 22H6-x)=x? > 4+36-12x+x7=x> > 12x=40 > x=13—0 » 35E A o

i
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ZEFEEEES 0 #£409)

1. 417508 > AB1[E O fYE{E » AE L XY » BELXY » #AE=5 » BF=7+ )
CD=16 > >KE|lOWHER - :

<fEAT>
B O fEOM L CD » 35CDji> M 8L » H3#$H70C
.".20M=(AE+BF) » OM=(5+7)+2=6

@:,/C_A/IZ+O_A/IZ:\/82+62:10 » [B] O HRE=10>x1=1007

2. Both roots of the equation x*+ax+a+6=0 for x are integers. What are all possible values of a?

<>
-atya=-4(at6) _ -axy a%-4a-24

/L\\j_:t@z’j:: ia 2a

@*-4a-2472 58 2 P ITH

Da*-4a-24=1 > a*>-4a-25=0—>F &

@a’-4a-24=4 > a*-4a-28=0—F &

®a*-4a-24=16 > a’-4a-40=0—F &

@a*-4a-24=25 > a’>-4a-49=0—F &

®a?-4a-24=36 > a>-4a-60=0—(a-10)(a+6)=0 > a=10 B-6 (3 43/5 47)

3. TR A BAIY x BESHHY e B > FHiF N8 B [ /=A% 2 (E B AL > (71 E
V% 1 EERAL - FBEIRY KR8 C R AR =20t 1)%-1 > JII 2R e 4 R0

— ° y
<fi#HT> B
y=(cH )21 D TEBEG-1, -1) > [[45 2 [T 1B HYTEBE-1+2, -1-1)=(1, -2) \( N
FUEL B: y=2(x-1)*-2 H AL A4 BlpgE B B x i /. N
< A TERE(1, 2) (BT T) /
CURHEL A y=-2(x-1)242 Tal2a ¥
4. WiE > VUEY ABGH ~ GBCF ~ FCDE ¥ B1E A > H 4 o P £
ZEAD=x" > LEBD=y > ZECD=z" - HI tan x"+tan y’+tan
z= o 1
yal
<ﬁfﬂ‘ﬁ>ﬁ 1 . . s = ‘o
tanxO:::— atanyo:::—atanzo:::—:l A 1 B 1 C 1 D
aD 3 BD 2 ch 1
J.tan x” +tan y” ttan z =+ - +1=—
32 6
5. M=3x*-8xy+9y*-4x+6y+15 > yER » 3K M HJEI[E Ky °
<fi#EHT>

0=3x?-8x)+9)?-4x+6)+15-m

9y +(6-8x)y+[3x2-4x+(15-m)]=0
D=(6-8x)>-4x9x[3x*-4x+(15-m)] =0
36-96x+64x7-108x*+144x-36(15-m)=0
-44x*+48x+36-540+36m =0
-44x*+48x-504 = -36m
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-11x2+12x-126 = -9m
11x>-12x+126 <9m

11x2£x+( )2]+126- °=9m

1 (e +126-2= 9m

11, 6 4
—(x-—)+14-—=m
9 11 11

M=3(x—3y —)2+11 2+3y+43—1

4-1 1 450 150
=30 3)/ _)2+ S0t )2 ENTETERETY
W y=— o x= 0 AR MET DM RIEETIR
6. The length of one side of the rectangle is 5, and the length of the A F
other side is less than 4. Fold ($24&) the rectangle so that the two 0
opposite corner vertices (JHEL) meet. As shown in the figure, if the
length of the crease (J8JE) EF is /6, then the length of the other
. B E
side is
<fiEtfr>
AE=EC=x » BE=BC-CE=5-x » AB=y
AABE » y*+(5-x)*=x*>—>)*=(x+5-x)(x-5+x)=5(2x-5).....® A F D

ﬁmifar¢ﬁnﬂk&w%zacr=-pwz \‘ 0

S ANOE » =+ 124572 4x=6112425....@ \
O A @—4x*=6+10x-25+25 » 4x*-10x-6=0 > (4x+2)(x-3)=0 B E
= =5 B3 (HUE)

Il 17=5%(6-5) » y=tV/5(HUIE) » BB EE VS

7. EFAEREETHIHAYALR 10 0 B IHAYALR 5 0 RIBLER B =+ THATRI R

<HRl>

artaxt....+aw=10
artaxt....tax=5—(artax+....ao)+(au+.....yao)=>5
Joant..tax=5-10=-5

HI A 7==-5-10=-15

Joaot. . taze=(-5)+H(-15)=-20
C.8530=10+(-5)+(-20)=-15
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8. EAME 3 JCHYEEIE T L - BEEH 500 - EXIEARE 1 T - SHEERED 20

fF > Ry 713514200 TTHIADE - BEEZ S Jt-e
<fEtr>
SRRME Ky x TT

(500-20x)(7+x)-3%(500-20x)=4200
3500-140x+500x-20x2-1500+60x =4200
20x%-420x+2200=0 > x*-21x+110=0

(x-10)(x-11)=0

Sox=10 8 x=11 > FIE(E Ry 7+10=17 5 7+11=18 -

= EEEEE 100 0 #£20597) X%%&%ﬁﬁx?‘ﬁﬁ

1. WAE > B4R L x+2y=10 8 x §ESH 4 > #E B E AR M: y=2x 1 L =T B > PORS
=/ \BOA WNEEEH > Al
(1)K B BEHJAAFE?

(205 P By x ASHER ¢ B S BT ASELR f1? J o
(3)7K(2) » K PORS HYERTEIMR » SIS ¢ fH {2 L
<%57§7F ﬁ > B//
(1) ".xt2y=10 H y=2x p/ s
JoxtH4x=10 > x=2—y=4 /|
C.B(2, 4) ol/
170 R Y o

Q)& x=t fLA y=2x » y=2t
- LP(t, 20)

8 y=21 FRA x+2=10
-.x=10-4¢ > S(10-4¢, 2¢)

(3)PS=10-4t-t=10-5¢ » PO=2¢ > % PORS [if&=y

y=21(10- 5t)——10t2+20t

,:_%____1 B =10y FRORE-10x12420%x1=10

".t=1 > PORS W KIHFE=10
(2 5313 5315 4)

2. R 3x2+15x+2Vx2+5x+1=2

<fEAfT>
[ =3 (2 +5x) +2Vx2+5x+1=2
4 g=x>+5x

3a+2va+1=2....® » 2Va+1=2-3a > 4(a+1)=(2-3a)?
" 4a+4=4- 12a+9a 2->94%-16a=0 > a(9a-16)=0

.a=0 B a= —
& a= Oﬁ)\CD » 2V 1=2 (&H) > x2+5x=0 > x(x+5)=0 > x=0 T x=-5

B a= SRAD  3x542 |941722 (FE)
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